MA3471 Name: Selulions

Final Exam (closed book, closed notes) D Term, 2012

Show all work needed to reach your answers. You may use any theorem we discussed in
class, but cite by name any theorem you use.

1. (10 points) For the ODE &’ + (4 cost)z = sint, please find an integrating factor pu(t)
which can be us f‘! _Eke the left-hand-side an exact derivative.

— uly=e '

. YSi'n,'t
Integrating Factor: p(t) = &
. 21
2. (20 points) Suppose A= [ i }

(a) For a = —1, what type of the equilibrium point is at the origin for the linear
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l ) (b) Is there a value of @ such that origin is a center of z’ = Az? Please find such a
value for a or explain why it does not exist.
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3. (20 points) Please define/describe/state each of the following:

(a) autonomous ODE
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§ (b) sequence of equicontinuous functions { f,(t)}
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(¢) Arzela-Ascoli theorem
,.S: ,5‘.,7‘7.‘9_,‘.2 AYa Fc/,P’"}s W&Gf""‘/ﬂﬂ'i{ A fo
/T ase ce. 7/75-4/‘#0-»15 wi K 7{,}:—-?/[(7‘" Zf :f e

bi for 60&-—/:,/ J*Jega;aonﬁwms on ‘7:’ ;4
19%rg$7¢»~ce ?7{;}} whtid CMVer.s b(m»rv]é'mx? o F.

(d) limit cycle
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4. (10 points) Suppose that A(t) is m-periodic. Please show that if 4 = —1 is a Floquet
lO multiplier for 2/ = A(t)xz, then there is a nontrivial solution with period 27.
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5. (15 points) Consider the BVP: ¢y + yy' + 33 =0, y(O) =1, yll}=75.,

Jo (a) Please use dominant balance to find the correct inner variable X = z/¢* for a
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5 (b) Please find the zeroth-order inner equation.
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6. (15 points) Please find constants @ and § so that V(z,y) := az? + Py® defines a
Liapunov function for the system
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7. (10 points) For an interval [a,b] € R, suppose that p,¢ € Cla,b]. Suppose that ml

and z are both solutions of (p(t)z") + q(t)z = h(t) satistying z(a) =0, z(b) =
) 0 What can bé said about the Wronskian Wz, z,]7 Please explain your answer.
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